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Read the following instructions carefullv before you begin to answer the questions. This Booklet
contains 100 objective tvpe questions with multiple choice answers both in English and Odia
language. In case of discrepancy in meaning, the English version will prevail,
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. This Booklet contains in-all H0 questions with objective

mudtiple chodce answers.

All gquestions are compulsory and camy equal mark.
Before answering any question, checkup this Booklet and
ensure that it contams 28 pages and ne page is missing,
mutilated or repeated. In case of any defect replace it
mmediately.

. The Invigilator shall supply you the bank OME Answer

Sheet separately. Enter sour Rell Number, Question
Booklet Serial Number and Ouestion Booklet Series Code
and darken the cormesponding cirgledfoval provided on lelt
side of the Answer Sheet caretully by black/blue ball point
pen only, You must write the name, date and center of
exarnmation and pat your full signature i the appropriate
spaces provided therein before answering any question.

A machine will read the eoded information firnished by
vou in the OMR Answer Sheet, [f the information so
furmished by vou are incomplete or different from what
have been given in the application form, you will be
awarded Zero mark.

. These msiructions must be comphied with fully farling

which vour Answer Sheet will nol be evaluated and Zero
mark will be awarded.

Answer must be given by completely blackenimne one of

the four cirelesfovals representing the correct angwer given
om night side of the Answer Sheet cormesponding 1o the
relevant question number by using BlackBlue ball point
penonly, Answers not shown by black/blue ball poinl pen
shall not be awarded any mark.

. Failure to hand over the Answer Sheet to the Invigilator

hefore leaving the exammation hallfroom will make yon
ligble to penal sction.

. Read carefully the instructions of answenng each question

before answermg 1l

o Angwer the questions as quickly and carefully as you can,

Some questions may be easy and others difficult, Don™
spend too moch Hme on any guestion,

. Mo Rough work has to be done on the OME Answer

Sheet. Space for rough work has been provided below the
questions wherever necded

Y ou st nol carry mito the examanation katl’ roomany

book. mobile phones or electronic devices, prntedhand-
written papers except the Admission Letler,

Failure to comply with any of the above
instructions will be considered as using anfair means and

action as deemied proper will be taken agamst the violators,
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GENERAL KNOWLEDGE
1. Which of the following is not a symptom of Malaria?
(A) Sensation of coldness and shivering of body (B) Running of high temperature
(C) Vomiting at times (D) Running nose

FERIRYS 6RUT AIERGEI 6aIT8 RUE §6e |
(A) 912 289! 8 28 QIFS (B) @aa S19 AIgl @@6
(C) QI3 699 (D) @I9g QI8 6913

2."Tehri” Hydro Power Complex has been built on which of the following rivers?
(A) Yamuna (B) Ganga (C) Gomati (D) Bhagirathi

60620 TINEE TINI0 K64T FEAIB 696 A1 QU6R HHie C9IRYIF
(A) age! (B) St (C) 6a19181 (D) Qugigen

3. Which of the following is not a river of northern India?
(A) Ghagra (B) Kosi (C) Sutlg) (D) Tapti

BEER goa 6967 9e0 HINER 61T 021 687
(A) QB8 (B) 6314 (C) 9pama (D) @1g

4. Given below is a column of tribes/races and another column containing names of the places that they
inhabit. Find out the correct answer out of the four options given below showing the correct matching
between them.

SIL.No. Tnbes SI.No. Places

I Afridis a. Bangladesh

i, Bhils b, Belgium

iii. Chakma I, Madhva Pradesh

iv. Flemings d. Pak-Afghan boarder
(A) i-a: 11-d; ini-c; 1v-b (B) 1-c: ii-d: iii-b; iv-a
(C) 1-d; 11-¢; 111-a; 1v-b (D) i-d: ii-a: iii-c; iv-b

G6R 69ITY 9A6E FRGIT/INIC I9° AGY JAEE CAFIEH QUIA FRESI QIGNR QIF FUIKIR 28 996
GIERIT Ea FRIG 6A9090 A0 6719% AFINas A0 AReE SR G |

Gel@ Qe LEG/QRIG ghe e  aiey

i 2IFea a. SPRIETE

i, e b. cam 26

fi. =] c. CRIGESE

iv. £ d. QFS-NTeIiee Q1
(A) 1-a: ii-d; 11i-c; 1v-b (B) i-c: 1i-d; 111-b; iv-a

(C) i-d; i1-c; iti-a; iv-b (D) i-d: ii-a; iii-c; 1v-b
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5. Match the following pairs of sportsperson and the sports he/she is associated with in right order.

I. Rachita Mistry(Panda) i) Cricket

2. Dillip Tirkey i) Olympic

3. Pragva Ojha i) Hockey

4. Bijayva Satpathv iv) Child Marathon

5. Budhia Singh v) Weight Lifting
(A) 1-i; 2-ii; 3-v; 4-111 & S-iv (B) l-1; 2-in1; 3-1; d-v & 5-iv
(C) 1-iiz 240; 3-iv; 4-iii & 5-v (D) T-iv; 2-iii: 34; 4-v & 5+ii

06 MYE CURIF 9e° 69 AB 91 6HRR 6AIT QIR OF RICT ASIR 6 |

| aEe dgraal i) FERT

2. G5ia o i) afde

3. 92 63 i) @@

4. IEa agaeal iv) PR, FIRIEe

5. gy e v) D VERFE
(A) 1-i2 2-1i; 3-v: 4-i11 & 5-iv (B) 1-i; 2-iii; 3-1; 4-v & 5-iv
{C) 1-ii; 2-i; 3-iv; 4-1ii & 5-v (D} 1-1v; 2-i1i; 3-i; d-v & 5-1i

8. Tenzing Norgay conquered the Mount Everest with Edmund Hillary in?
(A) 1943 (B} 1948 (Cy 1951 (D) 1953

48 119 GRIRTE AT0 69°RE HR6Y 6969 NGRS JFT ZICRIRE GRER?
(A) 1943 (B) 1948 (C) 1951 (D) 1953

7. Who wrote, “Politicians are the same all over. They promise to build a bridge ¢ven when
there’s no river”?
(A) Maxim Gorkey (B) Nikita Khrushchev ~ (C) Sobha Dey (D) Khuswant Singh

“IRRGRAICE AdE AR 1 63AIER 6AITN 6aIR FRIR AdeIg 9FET G2 cas0Ien 6918T avl AIF" @
@ET @4 QTgeR 7
(A) CIFE 6N (B) 5561 g69e (C) 62 6@ (D) g8z @

8. What is the name of the currency used in South Korea?
{A) Euro (B) Krong {C) Dinar (D) Won

QRS 6RIRCH MRS 6TRYS FI9IQ AN 26 ?
(A) geat (B) 6519 (C) GRIR (D) 8Ig
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ostationary orbit when-

(A) the pﬁ:r?'ud of its rotation is about 72 hours and its height is 56000kms above the sea level,
(B) the period of its rotation is about 24 hours and its height is 36000kms above the sea level.
(C) the period of its rotation is about 48 hours and its height is 46000kms above the sea level.

(D) None of these

636 GEF RAgR FBCRRR

91 23S 661 8 QIR 6REOETER GRITR?

(A) 9T Q10 ZIRER QIR 72 A9 §999° AT AGR 0 Y2IR AP 56000 FF 2 |
(B) 9@ 60 ARER IR 24 991 §49° AL A6F OIQ 921N VS 36000 H5 & |
(C) 9T G0 ARG QIR 48 Q9 §9°99° AFG A6F 09 9918 ARSI 46000 §F 2

(D) 6516195 g%

10. Who of the following is not an Odissi dancer?

(A) Sanjukta Panigrahi

(B) Uday Shankar  (C) Sonal Mansingh (D) Kelu Charan Mahapatra

FORGS MBS QUG T 964 8861 964 F810 2R ?
(A) @zl adgial (B) Q490 958 (C) caiqia aIeder (D) 628G 908 ARG

11. Given below is a column of
Find out the correct answer
them,

SI.No. Towns/cities

1. Agra

2. Ahmedabad
3 Bangalore
4. Bhagalpur
5 Cochin

4-{A} l-a; 2-b; 3¢ 4-d & 5¢
(Cy1-d: 2-c: 3-a:4-b & 52

towns/cities and another column containing the industries they are associated.
out of the four options given below showing the correct matching between

SLNo. Industries

a. leather

b. textile

c. aircraft

d. silk

e ship-building
(B} l-c; 2-d; 3-b;: 4-a & 5-¢
(D) None of these

Q68 66T YRR AVR/ATR 99° AR LALR I 85 & JEQ QI SR 2F | 6AAINE CrER A0]
6A1RR GUINgRl O 96R 498 GIEaIT eea frIG OF 9eaf o0 a8 |

el Qe QLG
21g)l
ARANRUQ
QTIERIR
FHTIRIR

: (a=lle

(A) 1-a; 2-b; 3¢c; 4-d & 5-¢
(Cy 1-d; 2-c; 3-a; 4-b & 5=

LR S A

Qe 2y a8

a, e

b. £CFTING

c. LIRS

d &%

€ GeIRgIe SR

(B) 1-¢; 2-d; 3-b; 4-a & 5-¢
(D None of these
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12, The Sun Temple of Odisha has been built in the shape of a giant chariot pulled by-
(A) 9 horses and 8 pairs of wheel (B) 7 horses and 11 pairs of wheel
(C) ¢ horses and 10 pairs of wheel (D) 7 horses and 12 pairs of wheel

BEEIR gdY A0S 6Q60IT 9 8 219 §39 6015\ FaIP B2 2IRIAsE G2IR 6TIRAR ?
(A) 9F cEIG B 8 611G o (B) 75 62011 @ 11 6Q1E 99
(C) 8T 6ai@l B 10 601 0@ (D) 78 6R1G1 B 12 61T &9

13. The first Indian Railway line opened between Bombay and Thane on-
(A) 9" January, 1852 (B) 18" April, 1853 (C) 21* May, 1954 (D) 26™ June, 1955

eI VRS CQF 6AR F6] B 2I6E FIEER 698 TF DI CLIRYR ?
(A) 9" January, 1852 (B) 18™ April, 1853 (C) 21" May, 1954 (D) 26" June, 1955

14. The Indian Railways, the second largest rail network in the world. handles about-
(A) 70% of passenger & 75% of cargo traffic (B) 75% of passenger & 80% of cargo traffic
(C) 78% of passenger & 85% of cargo traffic {D} None of these

SISG1D €92, ISR FOK QR0 609 EREEIW, 6R6E AfiFlE Q191 8 AR 9Geer afin G6a 7
(A) 70% QIG1 8 75% AR (B) 75% QIG1 8 80% Y@
(C) 78% QIG1 8 85% A (D) 693G g9

15. Which one of the following statements is incorrect?
The functions of the lungs 1s to-
i.  purify blood.
1i. separate carbon dioxide and water vapour from blood.
111, Supply oxygen to blood.
1v. supply pure blood to all parts of the body.
(A) onlv 1 is incorrect (B) only iii is incorrect  (C) only i is incorrect (D) only iv is incorrect

ORRYS cou 936 gRass ?

TQ 98 3 QI 6208 -

i) a8 FeaRIe A6

i) Q2 ATARIF 6 1Y 2R SE

i) 9 2L AR

iv) 88196 909 2ag §98 98 ARG

(A) 6999 i M 266  (B) 609w iii §RAEE  (C) 6999 ii 9l 268 (D) 6297 iv @R BI6E

16. Who of the following is not a cartoonist?
{A) R.K Laxman (B) Shankar Pilla (C) Amrita Pritam (D) Sudhir Dhar

QARG QIES I T4 F6E RIGER @ 26w 7
(A) 218, 6%, mFe! (B) =8 aalm (C) B5)e giea (D) Gai& 26t
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17. Match the following pairs of stadium and its location.
1. Sura Pratap Stadium i) Cuttack
2. Panposh Hockey Stadium i) Dhenkanal
3. Satyabrata Stadium 1) Rourkela
4. Jawaharlal Indoor Stadium iv) Sambalpur
5. V.S.S. Stadium v} Cuttack

(A) 1-1; 2-u; 3-v; 4-iii & 5-iv

(B) 1-ii; 24ii; 3-i: 4-iv & 5-v
(C) 1411, 24iii; 3-1; 4-v & 54v

(D) 1-iv; 2-iii: 340 d-v & 5-ii

89 RYS UTEA ¥e° 018 024l 6218 AIeg O SIES ARIR 6R% |

1. 90 g9oa 8@an i) R

2. QIR6IY LR AT i) 6RFIRIS
3. 4949e LN 1) QUBRETR
4, GLIVERIN FEAG LA iv) agRaR

5 89949 9899 V) K99

(A) 1-i; 2+ii: 3-v: 4-idi & 5-iv

(B) 1-ii; 2-i1i; 3-1; 4-iv & 5-v
(C) 141 2-ni; 3-1; 4-v & 54iv

(D) I-iv; 2-iii; 3-i; 4-v & 5-ii

18. Mother Teresa, the first non-Indian, who got Nobel Prize in 1979 and Bharat Ratna in 1980 was born in?
(A) Czechoslovakia (B) Zurich (C) Kolkata (D) Albania

GeIf A6 RIBG1R, LR 6968Ql, ARIF 1979 ATLIER 6RIETR TAWR 99° 1980 68 MBS 88 TR
PRAINZRI, 69 6RUOIER BG TLE GREIER ?

(A) 6D6RIES ST (B) 8@ (C) ahael (D) BIRSIF2I

19. Rajtarangini. composed by the famous Indian poetess Kalhana gives a vivid history of?

(A) Kashmir (B) Himachal Pradesh (C) Rajsthan (D) Haryana

gda MIEDID QeHg] eR9R A9 SRS ‘QIGCHEaT sa9 sisys §F 86 aFwIa BI6e?
(A) 2191 (B) @5liem geed (C) augals (D) @3NRI

20. For which sports is Val Barker Cup awarded in the Olvmpic Games?
(A) Swimming (B) Boxing (C) Long Jump {D} High Jump

AMAT CHRER 692 A6l AR 196 94 FRILIGEN ?
(A) agal (B) 9G4 (C) Quer Gt (D) 2I9 a9t
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21. Which of the following statements about Kalpana Chawla is false?
(A) She was an Indian born Russian cosmonaut and Engineer.
(B) She went to space in space shuttle Columbia on a 16-days vovage in 1997.
(C) She along with crew of six others was killed on 1% February, 2003 while landing in the second voyage

of Columbia.
(D) None of these

SRe SBRIE Fa068 57 H9e 600 9aF g 2687

(A) 69 @66 SIEIE FTE GG NTIINIE DITT B AT 26R |

(B) 1997 ©13916Q 9@ 16 GR2I QIGIEE FRIFIE LIF SRANIER ARIEG IS FTLER |

(C) 2003 Q%I 6TgeIR | G188 G0 6QIEAIRZI QAGR TE1A AININE AGIR JYL1G 6TRT 6962 2RY 6 84
A% QYT AP )P4 908 FELER |

(D) 616135 Ok ged

22. Which of the following is not a Painter?
(A) Satish Gujral (B) Amrita Shergill (C) Jamini Roy (D) Begam Akhtar

GORYS S4B IR 54 968 Saaia @ e 7
(A) 9914 GEaIR (B) 2e)e1 sa@im (C) 215ie1 Qg (D) 6997 EBIR

23. Muslim League was formed at Dacca on 31 December, 1906 by-
(A) Nawab Salimullah Khan (By Zulfquar Alli Bhutto
(C) Mohammad Alli Jinah (D) Khan Abdul Gaffar Khan

@6aqa 31, 1906 AdeIca €56 A9 @IRigicl 908 6THERI ?
(A) B9IQ AN QRN FIQ (B) G Tg2IQ BR1 PEa
(C) FIERQ 2R SR (D) HIe 2990 AT Hig

24. Bharativa Gvanapith Award was founded by the noted industrialist Shanti Bhusan Jain in the year-
(A) 1944 (B) 1950 (C) 1956 (D) 1962

HUSRIF FF0T AIB Pas 636 cad (ALIEA ARSID WNT0 Jaia o8l eG2em?
(A) 1944 (B) 1950 (C) 1956 (D) 1962

25. Which of the following series of countries of the world has been arranged in sequence of bigger to smaller
in terms of geographical area?
(A) Russia, Canada, United States (B) Russia, China, Brazil
(C) United States, Canada, Russia (D) Canada, China, Russia

cSlaR 6AGER QI F6HIB 696 604 AGFAE AIRQ 9F GFIEa A8 AIRZIE?
(A) 9821, FIFIS, ARG (B) @82, 917, gia%
(C) aIseRel, QIgiel, g (D) @9l 919, gEel
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26.The UNO was established on 24" October, 1945 with delegates from —
(A} 35 countries (B) 40 countries (C) 45 countries (D) 530 countries

1945 €132 2I6QYQ 24 GITY T6 6REEIT 6080 OERNIG 6ra e 916 o°g 0 cLIGERI ?
(A) 35 countries {B) 40 countries (C) 45 countries (D) 50 countries

27. The temple of Lord Nilamadhav built in replica of the Jagannath Temple is located in-
(A) Koraput (B) Navagarh (C) Keonjhar (D) Kantilo

FIRAIRIGER (P68 Q21T S92 TR 299 69R0I6a ZGAITE 7
(A) 691R19 (B) Reuee (C) 6968 (D) @481

28.Which of the following is the most populous states of India as per 2011 Census?
(A) Uttar Pradesh (B) Maharastra {C) Bihar (D) West Bengal

2011 @€ 9661 29I FEIB 669 QIRE 290 GRRLS 21687
(A) 990 96549 (B) A161% (C) Gae (D) 989 oF

29. The first charter of English liberties for barons, church and common men was signed by King Johnll in-
(A) 1215 (B) 1218 (C) 1221 (D) 1225

6990, 99 19° ARG CAIE Alsl §TA INAVIR 2IA AR QIR §G-11 6369 YSE GELER ?
(A) 1215 (B) 1218 (C) 1221 (D) 1225

30. Given below are names of Industries/Research centre in one column and names of the places of their
location in the other. Find out the pair which mismatches.

SI.No. Industrv/Besearch centre Place
1, Indian Veterinary Research Institute Izatnagar
2 Indian Institute of Virology Bengaluru
3. Indian Institute of Sugarcane Research Lucknow
4. National Sugar Institute Kolkata
5. Mational Defence College MNew Delhi
(A) SIL. No.1 (B) SL.No.2 (C) S1.No.3 (D) S1.No.5

G166 6GIITT BACE F/AETTEN 695 99" 2QY IA6E GIA NG QI FAAINZE | 9FYS 696 6AET Bsaee
529E 017 998 99 |

Sl A6M4 SFERY HEQASI/ aex

1. VNG Og Seaas giale SRR
2 GRS HoIE F6TTEI gTAR SRR
3. SIRG1E 2Ig F694 gEAR mes]

4, @E1R 56 geale [=lal=tal

5 @91 96aal ARIFaYRe qal Ga

(A) SI. No.1 (B) SL.No.2 (C) S1.No 3 (D) S1.No.5
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31.°NRI” Day is observed on which of the following days?
(A) 7" January (B) 8" January (C) 9" January (D) 10™ January

46 216, 2I0. §9a FORYS 696 FIGH6E AIFe QRIard 7
(A) 7% January (B) 8" January (C) 9" January (D) 10™ January

32. The Dronacharva Award is associated with-
(A) Eminent surgeons (B) famous artistes
(C) Sports coaches (D) expert engincers

629I9IFY AR F6TIS ATl AT GTC 2697

(A) NIGRIAl 98] (B) gde eqiea
(C) 25 621Q (D) @@ ag1
33. Who of the following wrote the praver “Ahe Dyamaya Biswa Bihari™?
(A) Madhusudan Rao (B) Madhusudan Dash
(C) Gouri Shanakar Ray (D) Ramakrushna Nanda
“2162 @0 10 §9 FaiIar 98 gEinid G¢ G940 699 28 SRy gew?
(A) AYGET QB (B) AREGE @19
(C) 6Tl0awa Qe (D) el 8 &%

34. What is the official language of Meghalayva?
(A) Roman (B) English (C) Mij (D) Mishmi

EARINER ORI AF @ & 7
(A) BRUSNS (B) e (C) 6@ (D) A48

35. Which of the following rivers divides Odisha and West Bengal?
{A) Baitaram (B) Budhabalanga (C) Subarnarekha (D) Salandi

G661 696 901 854 ¥e° afin eurg SRIee @ged 7
(A) 6Goaen (B) 9@ Qe (C) geseas (D) QiRe1

36. Swami Vivekanand represented India in the Wold Congress of religions at Chicago in?
{A) 1893 (B) 1896 (C) 1899 (D) 1903

SRIERIEH 89 A6 AFFR16R Y1 FRARIFR SIREY 6769 THAQ GRLER ?
(A) 1893 (B) 1896 (C) 1899 (D) 1903
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37. Which of the following constitutional amendments substituted ‘Odisha’ for “Orissa’ and “Odia’ for
‘Oriva’?
(A) 91* amendment, 2003 (B) 95" amendment, 2010
(C) 93 amendment, 2006 (D) 96" amendment, 2011

F67)I8 699 QRYIR Q°CHINIR YRSR ‘Orissa” § *Odisha’ 4e* “Oriya’ g “Odia’ ca aBiedh ealsRl?

(A) 2003 @ 9166 CreaRIG (B) 2010 @ 9597 6diIe
(C) 2006 & 9367 QeqIuG (D) 2011 & 96@7 Q°calMS

38. Which of the following is not a fundamental right according to constitution of India?
{A) Right to equality (B) Right to particular freedom
(C) Right against exploitation (D) Right to acquire to property

RURGI ARG GAIER 5 RYS I 696F 6915 6F1GS BRIR G635 7
(A) QAISEI ZRIQIE (B) &8 IRING BQIQ
(C) 68186 U1 2RI (D) Q1@ 210 2eIe

39. Appearance of periodic warm and saline ocean current in the Pacific Ocean, west of Peru which is
believed to be weakening the monsoon currents over India is called-
{A) Ecliptic (B) Cumulous {C) Kuro Siwo (D) El Nino

60 6240 QA6 9I3 ALAATELE CIHUAINLR AUIAGE VY 8 RSB AFR 6910 AT § MGG
6AIgEIR 9RISG 219 *EEN, 9118 91N @ 7

(A)9QER (B) gqsmiq (C) geaidn (D)9 Fee

40. Who of the following Odia writer is not a winner of Gyanapitha Award?
(A) Sachidanand Routray ~ (B) Sitakanta Mohapatra  (C) Pratibha Ray (D) Manoj Das

F6CID 694 6FE 6AYR RISTI0 JER 919 6816 Q191G ?
(A) ATLIFR 6RITRUL (B) 9181912 O91C18 (C) 96w Qugh (D) Q6818 G1Q

41. The world famous Khajuraho temples were built by the kings of which of the following  dynasties?
{A) Chandela (B) Chauhan (C) Parmar (D) Chalukya

FECID 6aE °9R AIBIFIEE §F TeIQ SgaIsel ade Bdie eaimesa ?
(A) GIsaR (B) 6219 (C) aBeIa (D) Iy

42. Which of the following is not a literary creation of Upendra Bhanja?
(A) Labanyabati (B) Premachintamani {C) Chitralekha (D) Chandrakala

@6 GG 6966 RLaL VEE 60159 AITtie 98 G6e ?
(A) RUSEHDE1T (B) 6971 @2104 (C) SEeas (D) egems|
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43. “Cusec” means-
{A) One cubic foot of water flow per second (B) One cubic foot of water flow per minute
(C) One cubic meter of water per second (D) None of these
“Queas” o aiel -
(A) 692624 95 S UAYT 9IIEe 89 (B) T6¢ 98 9@ 9Rgs geIge o9
(C) 69624 g5 9@ 90ge eF (D) 691618T ge@

44 World War-I broke out on November 11 of the vear in which the Panama Canal was opened. What is that
year 7
(A) 1910 (B) 1912 (C) 1914 (D) 1918

6aR d ReRga 11 66 g2A &4 g8 2o 6eRl 693 9d AIRIAI 69RIR VEQISR 6NN | 9I9! 699 @F 7

{A) 1910 (B) 1912 (C) 1914 (D) 1918
45. Which of the following is not a factor behind the rainfall of a place?

(A) distance from the north or south pole (B) direction of wind and mountain

(C) Neamess from the sca (D) Forest and warm currents

69168 AIF6R 94l 6291 0868 FEQIS 6RWE 61T PGS §67

(A) g5719 @€l 96A1Q OIft 64T AIGE a8 (B) 09@ 9&° 0eRa @9
(C) 99018 96! (D) @erm 9e° g 699
46. Equinoxes occur throughout the globe on-
(A) January, 18 & August, 21 (B) March, 21 & September, 23
(C) February, 19 & September, 23 (D) None of these

AFERT AFG TRIIEE 696 A°F0E ERINAIN ?
(A) GIGRIAT 8 BAGE 9 ¢ (B) 9IS 92 B 69647 90
(C) 6T € ¢ 6 6AEGFIR 99 (D) 651635 Q6% |

47. The Panchpatmali is famous for mining of-
(A) Chromite (B) Bauxite (C) Graphaite (D) Dolomite

IBAGCIRT 676 AIG AERIGE Alel 9w ?
(A) 6519198 (B) Q8188 (C) AIiRg (D) 6S16RIAIF
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48. Find out which of the following pairs of books and authors is incorrect.
51, No. Book Author

Alice in Wonder Land  Lewis Carroll

1.
2 Abhigyan Shakuntalan Kali Das
3. Artha Sastra Koutilya
4. Birds and Beasts Mark Twain
5. Borken Wings Arundhati Ray
(A) SI.No.l (B) SLNo.2 (C) SI.No .3 (D) SI.No.5

09 REO g9 99° GO CRYR 6AIF (IR 6REE PR 908 96l |

qfie e &) el
1 hd GRGEaRIE  REQ EIEAIR
2 NS SR T 2
3 ué a9 c@IEmy
4. o1 8 ag aqa I 698
5. 69196 @D 2QRG1 QI
(A) SI.No.1 (B) SI.No.2 (C) SLNo.3 . (D)SLNos5

49. Find out the incorrect ong of the following pairs of the great personlaitv and his actual name?
(A) Bagha Jatin-Jatin Mukherjee (B) Chandan Hajuri- Chakhi Khuntia
(C) Patham Samanta-Chandra Sekhar Srichandan (D) Sarala Das- Sidheswar Parida

¢ Mge AR Q1BQ 99° CIF 999 FIA AT AIRE AR 60EE §R 999 8 |

(A) €l Q1R -AS1R FJeIe (B) oan 298 o1g 4Gz
(C) QO AFIT — 9% 6I8A FIoRE (D) QiR @4 - Jeaqga atie!

50. When did Veer Surendra Sai first declare his revolt against the British regime?
(A) 1817 (B) 1827 (C) 1837 (D) 1847

G54 €19 GgRea 916 9ERG A1 JUEE 6769 G6QIR CRITE Gai26R ?
(A) 1817 (B) 1827 (C) 1837 (D) 1847

51. “Ammeter” is used m aircraft for measuring strength of-
{A) Electric current (B) velocity of wind (C) speed of light (D) None of these

QFIGIZINEE BIFCR § P96 43 AT QI8 QYeTIR GRIDI?
(A) 659459 69i% (B) @ige 6 (C) 2IERIFR G (D) 616135 qe@

52.Who was the first Russian cosmonaut to orbit the Earth in Vostok-I on 12 April, 1961.
(A) Andrian Nicolavev  (B) Alexei Leonov (C) Yuri Gagarin (D) Vitaly Sevastvanov

QF2IR 699 ALIQIE AI91, 1961 (A2 9TR 12 010Y 80 RICS-1 TIFEE 21 GIRIDES 9889 SRseR?
(A) Qa6 Feairde  (B) ZieRed sRasqia  (C) g1 AIidq (D) G171 6QRIBYERI
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53.*Dengue’ fever is caused by —
(A) Varicella — Zoster virus {B) Aedes aegypti mosquito
(C) Hepatitis A virus (D) None of these
694 5 FIT Fiel He sTimara?
(A) MIGEARI 6RAILR oI (B) 989 a1&g a4l
(C) 6201662 A" QIgad (D) 6@6135 6%

54. Name the famous battle wherein Rana Pratap was defeated by Mughal Army led by Raja Mansingh.
(A) Battle of Haladighat  (B) Battle of Panipat (C) Battle of Buxar (D) None of these

Qs AGET ERPRER 6ATG SIS TIRI QU OTID 606 SNIGHIFI DECE ORIS CRINIER, 918 @A @' @7

(A) SRORIC g8 (B) aiFaq ga (C) 2910 g& (D) 6516E5 g6<
55. Adam’s Bridge. a 28-km long bridge of rocks and sand. connects between-

(A) Britain & Switzerland (B) Pakistan and India

(C) India and Bangladesh () India and Snlanka

Q2R 8 QIR6a GaIE 28 @.6, 6364 T8 2IGIA §e 696 6REFIRG eaIs GgF
(A) §EF 9S° REORIE (B) QIGRIS 9<° QUGG
(C) BIGS 49° QPRICRE (D) NSNS =" Fine

56.Who is the brand Ambassador of newly formed Telengana state?

{A) Sama Mirza (B) Saina Nehwal {C) V.V.8 Laxman (D} P.V.Smdhu
QRGI00 EPERTS QITIA §I9 AIAIeQ &4 7
(A) aiten fe) (B) Q9| 69628IR (C) & §.99. Qg (D)4 &.dg
57. Who presided over the first session of the Indian National Congress?
(A) Womesh Chandra Bannerjee (B) Surendranath Bannerjee
(C) Mahatma Gandhi (D) G K Gokhale

NNGIE VG SEEAR Q2 ZRIEIINER T ANIAGR REER?
(A) @676 OF 690G (B) Q6agaiel 6965
(C) FIRIEY SR (D) 66ll. Q- 65IHER
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58. Find out which of the following statements of Invention/Discovery, Scientist & Year is incorrect?

Sl No, Invention/Discovery Scientist Year
1. Helicopter Briguette Brothers 1909
2. Incandescent Bulb Marry Curie, USA 1879
3. Improved Power Elevator (lift) Otis and Watson 1852
4, Laser Gordon Gouid, USA 1957
5, Motor Cvele G.Dainibar, Germany 1885
(A) SIL.No.2 (B) SLNo.3 (C) SINo 4 (D) SI.No 5

QEISE, 21IS9Ie, 978 6FRIRR 6 6d Ta06a 9o F6RIS @8 AIRT FYQ 6760 gN B4R 98 |

Ghe ey  eales 21FeR EERIER od
5 CTMERYR g6qe god 1909
2. @] 6969694 O ER18Y U1, EIEAIEI 1879
: ) ARe QEe Ggd (B¢ 9e° BIgaq 1852
4. ER@al AP g8, ZISFRG) 1957
5, EFIE8 AREIR 3. GI9R9IR, adieT 1885
(A) 969 Q°@y- 2 (B) §8@ @°&1u-3 (C) F5i@ Q°@Y-4 (D) gFi@ a°8yl-5
59. Who is the chief Executive Officer of the Zilla Parishad?
(A) Project Director, DRDA (B) District Panchayat Officer
(C) Collector (D) Addl. District Magistrate

SR ARE0R Y YIFIR] SN @4 2957
(A) 9% Feade, & 2R &9 (B) &Rl 98196 2R
(C) FRiaim (D) 255 GRiae

60. One degree of latitude from Equator measures about-
{A) 100 kms (B) 105 kms (C) 110 kms (D) None of these

PERIEAHOIG © TF1 2ATFE 6AR §OSI 6968 ?

(A) 100 kms (B) 105 kms (C) 110 kms (D) 6<16EF Egi'?'

61. Which of the following countries are respectively the largest producers of Coal, Iron Ore and Aluminium?
(A) USA, Brazil & Russia (B) USA, USA & USA
{C) Australia, Australia & Canada (D) China, China & China

QUNE 666 604 QAGET CRANRI, P2 A2Q 8 2URFFFIA TG AYCENIRT
(A) 2IERGSI. SI1Ea. gEal (B) 2I6E1EGI, 2I6AERI, 2NEEEI
(C) 21682, 2168R2!, FISIE (D) SI9R!, SIsE], e
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62. Which one of the following statements about human body is incorrect?
{A) Human heart beats 72 times a minute,
(B) The master gland of human body is pituitary.
(C) The number of muscles in human body 1s 639,
(D) The number of chromosomes in human body is 48 or 24 pairs.

AIRe §818 fa06a FOnYe 600 9a8 99 ?

(A) P83 200 AFSRER 72 26 SRG 6RIR2I

(B) 999181 ARG 0108 AI9R I8 263 |

(C) FIRS GEIREE 9N APACALE! 88 |

(D) AIGS 901660 ¥ @1 9% 61 9EAISEIA 88 |

63. The length of Odisha coast is about-
(A) 480kms (B) 580kms (C) 680kms (D) 780kms

BEGIER g1 A eagne 65l 6060 7
(A) 480kms (B) 580kms (C) 680kms (D) 780kms

64. Universities in India were first established at Kolkata, Bombay and Madras in the vear,
(A) 1877 iB) 1867 (C) 1857 (D) 1847

FROD, 967 95 AKINER Yaea F9F0RA 696 od QiGe caiIRgm 7
(A) 1877 (B) 1867 (C) 1857 (D) 1847

65. Which of the following statements is incorrect?
(A) Brass is an alloy of Copper & Zinc
(B) Stainless steel is the alloy of chromium, nickel, iron and manganese
(C) Bronze is an alloy of tin and copper
(D) MNone of these

FOMYS 696 96 an 7
(A) Qo9 69 6 QI8 FgMIQ
(B) PR Q4I6 691A06, Geam. Q2 6 AIENdes GguIg

(C) 65itn T8 8 eQa Fguig
(D) 690636 Q6%
66. The year 1920 is not associated with which of the following events?
{A) Non-cooperation Movement (B) Bal Gangadhar Tilak Passes away
(C) Indian Red Cross Society set up (D} Azad Hind fouz formed

1920 (gl G669 606 ATCINR1 ATE TUB G6S7
(A) BAREAID TNERIPG (B) QIR GIEFIIE Gawe QY
(C) VNN 666 99 CAIAIRET QIKIE (D) BIRIQ T8 TR 08
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67. Which of the following is not a literary creation of Gangadhar Meher?
{A) Pranayaballari (B) Chilika (C) Tapaswini (D) Indumati

&6l RYO 696 5 AR 6reTes ATEYR 9F q6% ?
(A) gi9eaa (B) @@ai (C) eaga1 (D) RgN&

68. The machine used for recording the electric current passing through the brain to determine brain disease is
called?
(A) Electrometer  (B) Electrocardiogram  (C) Electroencephalograph (D) None of these

6aIF GFI08 aReIg AFEY NE6 65915 6916 ARl QI6l 64 OGg 4A2IR QAU ?
(A) @6meqiica  (B) QEMER M@ (C) @RWEREY| 9] cATERIGIT (D) 6T Q6e

89. The crust of earth has the following percentage of Oxygen.
(A) 49 85% (B) 59.95% (C) 69.05% (D) None of these

ggQ1 9964 6969 gFET BRRIe 287
(A) 49.85% (B) 59.95% (C) 69.05% (D) None of these

70. The national anthem, ‘Jana, gana, mana’, composed by Ravindranath Tagore was first sung at the Calcutta
session of Indian National Congress on-
(A) 27" October, 1916 (B) 27" November, 1928
(C) 26" January, 1938 (D) 27" December, 1911

A91geId OIgas FI01 85 RIS AR ‘96, 94, A6 2 99" IR FIS1N S°6g<9R ST

ZRIGLERER FRIEA 6R9 &0 CIF QRTAGRRI?
(A) 27" October, 1916 (B) 27" November, 1928
(C) 26" January, 1938 (D) 27" December, 1911

71. What percentage of Manganese is available in Odisha in comparison to all India reserve?
{A) 30% (B) 32% (C) 34% (D) 36%

SIRGER GES A9l AITNGS RAISH BEGIGR 6959 980 QNG 2F ?
(A) 30% (B)32% (C) 34% (D) 36%
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72. Given below is a column of places and another column containing brief statements of their importance
Find out the correct answer out of the four options given below showing the correct matching betweer

them.
Sl.No. Terms S1L.No. Meanings
i Amarkantak a. source of Narmada and Tapti in Madhva Pradesh
ii. Abadon, Iran b. active volcano in the Andes mountains
il Baku, Azerbaijan c. noted for petroleum
iv. Cotopaxi d. noted for oil refinery
(A) i-a; ii-d; iii-c; & 1v-b (B) i-c; iid; iii-a & iv-b
(C) 1-a; 1i-c; 11i-b; & iv-d (D) i-d: ii-a: iii-c; & iv-b

Ge66 99 9A68 9IS AINTE Al 8 BIRYTER 6aIPEe S6aae FRIRIRAT | 6AAIGE AEa A0S 6AGe
4IRS 61" G6F OB QIERIT a6 Aug O a9eS 099 ]|

Qe QISR FIF 96  S6a8Q
) 20094e a) FRIGEGAER O A¥IQI 6 91T 991 Q2I0ES
i) 2909, eUe b) 2188 999 AIRIG 9198 2Issada
i) @I, SN c) 66EIMEAF ain g8s
iv)  6RIETITF d) 65 FeaIGIPR Qle 98
(A} i-a; ii-d; tii-¢; & 1v-b (B} i-c; ii-d: 1n-a & iv-b
(C) i-a: 1-c; 1i-b: & iv-d (D) 1d; ti-a; iii-c: & iv-b

73. The average depth of the oceans on earth is-
(A) 5.5 kms (B) 4.4 kms (C) 3.5 kms (D) 2.3 kms

TRYER g AR FINER TR TIIN 6560 ?

(A) 5.5 kms (B} 4.4 kms (C) 3.5 kms (D} 2.3 kans
74. Pick out the incorrect one of the following pairs of important year and events,
SLNo. Year Event
I. 1940 Mohmed Ali Jina demands separate statehood for Pakistan.
2. 1942 8" August, Quit India Resolution
3. 1943 21" Oct, INA organised by Subhas Chandra Bose
4, 1950 November 26, Constitution of India adopted.
(A) SI.No. | (B) SINo. 2 (C) SI.Ne. 3 (D) Sl.No. 4

aaee G2Ia1RgR geRad oF 96 696 oda 2°H00 TTCIRTIA 6AIE FINT 6R9E PR 9U6 @R |
gieoey 9 aoslIaw]

1 1940 FEET 2GR IFAI9g 998 960d OIF 9ed
2 1942 299 8, K90 819 FEIQE

3 1943 YIS 21, RIS 91 6918 INA 9108 *aE
4 1950 REVIQ 26, WINGIR IS LTINI ISR

(A) S1.No. | (B) SINo. 2 (C) SL.No. 3 (D) 1 No. 4
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75. Which of the following pairs of discase and the affected part of human body is incorrect?
SLNo. Disease Part of human body

i Asthma a, bronchial muscles

i, Diabetes b. pancreas

. Encephalitis ¢, thyvroid gland

v, Goitre d. brain

{A) Only 1 & 1 are incorrect (B) Only ii is incorrect
{C) Only iii & iv are incorrect (D) only 1v is incorrect

GARYS AI6S 918N BT B 919 2ISIS YRS CAITR AP AINE TR 699T G 268 7

9.9, eaig So1ee 2l
i. 21k £9IRIEIR AIrasas
i, RN 216 6Q1E
iii. YREATimIaea 2IIBERNIE ERIT
iv, st} ada,
(A) 6297 1 Bii g (B) 6297 ii ¥ (C) 62eR il Biv @R (D) 629 iv 9.

76. The Equator does not pass through which of the following countries?
{A) Indonesia (B) Mexico (C) Brazil (D) Columbia

Sgacas F6CIS 6a6 609 6om 259 SERIE 7
(A) Bsaicada) (B) 651564 (C) giEat (D) @A

T7. Which of the following statements on Prime Meredian is correct?
(A} Itis the Mendian from which longitude 1s measured.
(B) O degree longitude is measured from here.
(C) It passes through Greenwich near London which had onee a famous observatory.
(D) All of these

gIge] 6760EaIR Facea F6gin 606 9ad 0 998 @ |

(A) 12! 6208 6765G2IR 6TE0IR QITAI AN |

(B) ~90IQ &4 Ggl1 QI71 QIarg |

(C) 921 99R F90E PINAN9 690 2ETE Q66 60R 0168 Y69 6aIE g8 29RINsRETIa SR |
(D) & 9912 93 01 |

78. Indian-born Hargovind Khorana got Nobel Prize for his work on Genetic Code in the vear?
(A) 1962 (B) 1964 (C) 1966 (D) 1968

NOLER FFC FRETNGR CHIGIG CRERTR 6TIE AUCA GIF VM IR 699 94 6AIETR TR JIY STIGEISR 7
(A) 099 (B) @ ¢ 9% (C) 2099 (D) ecar

79. On which of the following dates the day at Arctic Circle is of 24 hours duration?
(A) June, 21 (B) May, 22 {C) Apnil, 23 (D} June, 22

GOEYe 696 918960 BIRR YR0IEA TF 9% U8 6RIGAIN?
(A) June, 21 (B) May, 22 (C) April. 23 (D) June, 22
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80. Arrange the names of the following Indian Presidents in order of their incumbency.
SI.No. Name
1. Dr. Rajendra Prasad
2 Dr.S Radhakrishnan
3. Dr.Zakir Hussain
4, Sjt.V.V.Giri
5, Fakhruddin Alli Ahmed
(A)1,3,4,2&5 (B)1,2.4,3&5 (C)1,2,3,4&5 (D)2, 1,3.4&5
G¢ Ao RIeeIa 9P AIRER BYGIEE g9 AN 2GINER ARG SRS |
g8 Q@
1. @. QIeeR gaIe
2 @. 42, Qg9
3 @. giae geaq
4, 1 6. & 98
5, TIRF AW BLAQ
(A)1,3,4.2&35 (B)1,2,4 3&5 {(C)1,2.3,4&5 (D)2, 1.3,4&5
81. Which of the following countries are respectively the largest producers of tea, wheat and wool?
{A) China, Bangladesh, UK (B) India, Thailand, Russia
(C) India, China, Australia (D) Bangladesh. Malavsia, USA

FARYS 696 608 Q2GR 91, 9271 8 R, @ ATGLQ VYN 7
(A) PG, LPRIETY, G- Ra (B) @lae, aema, @@
(C) RISL, SIR9, Zegme (D) QrRIead, QIeRA2. 2I6ORR!

82.‘Bharat Nirman Yojana’ is intended for the development of which of the following?
(A) Urban infrastructure (B) Rural Infrastructure
(C) Bridges and roads (D) Information technology

See Grla caeql FRYe seala 9914 ae 9Ee 7

(A) aue 5@ 9@ (B) gifgs 6@ g
(C) saim B Qg (D) go%i 6aq
83. The normal temperature in the body of human beings is?
(A) 37.2 degree centigrade (B) 39.2 degree centigrade
(C) 37 4 degree centigrade (D} 394 degree centigrade

FigEl dellcel Qikliedl SIDRIg 6aes T

(A) 37.2 degree centigrade (B) 39.2 degree centigrade
(C) 37.4 degree centigrade (D) 39.4 degree centigrade
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84. Which of the following is not a measure of prevention of Smallpox?
A) Isolation of patient till the last crust of rashes separate
B) Disinfection of premises
C} Destruction of sputum
D) Cleaning patients™ ¢lothing in washing machine

GRS 660 292 6RITE gE6RIS SYAYl 6% |

(A) 6TIERIR 6HIRT BT 669 6291 9548 6RITY AT QYS!
(B) 9gsaIgq 98ergfic adiql

(C) 9isieg 59 @89l

(D) 61918 RAIASIG §IT° 609G 66 AT KR

85. In 1907, the Indian National Congress split into moderates and extremist on selection of President at Surat
Session. Who was elected President with support of the moderates?
(A) A O Hume {(B) M.K.Gandh {C) Rash Bihan Bose (D) Bipin Chandra Paul

gaIS 2RJELENER ANAT FISHG 60a 1907 NATIER NRGTE FIV1D F°69Y FAFINRT 9e° Sanaa! Yaa
Q@ 96l CRIRARI | 69T ZREIIRER FPANCRIT AAVSIER T ANAT FAITE AARYER 7
(A) 9. B, g4 (B) 66119, QU1 (C) a8 Igia 691E (D) 386 o8 aiR

86. The highest waterfall that measures about 1000 meters and is located in Venezuela is called-
(A) Tugela (B) Jog Fall (C) Angel (D} Cuguenan

6UEREEINIER TLEe A6TIE SadI QIZR @96l g oo o FigE, SI9IR FIF @41 ?

(A) gasl (B) 9| & (C) “d68Hm, (D) 6998
87. Neil Amstrong, the first American astronaut, set foot on the moon on-

(A) 217 July, 1857 (B) 13" September, 1959

(C) 20" August, 1858 (D) 18" October, 1961

geIn 2IEAFEI FRIgR QIS 6oR, BN, 66 G0 99CE6a QIR aYIsR?
(A) 21% July, 1857 (B) 13" September, 1959
(C) 20™ August, 1858 (D) 18" October, 1961

88. Which of the following is not a rule of hoisting the Indian national flag?
(A) The saffron colour band should always be at the top.
(B) No flag or emblem should be placed above or to the left of the national flag,
(C) While marching it should be held on the night or in the centre
(D) It can be taken down on the next day moming of hoisting,

GORNS 69U5 NATIA IPIE TSN FERIRG SERIG IR T g6% 7

(A) FRER 2°E AQIEIER VUNT QG @FF |

(B) 264 671413 09I9I 91 19 QIPI USRI Aa6R FE) 9IF Qg 089 F6UR §6% |
(C) AT AADER 92 Y169 F9) AE6a BES 9P |

(D) SRR Ja5E1 BF 9Rig 191G ASEEE RIS TS |
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89. Which place is known as the Kashmir of Odisha?
{A) Deomali (B) Daringbadi (C) Saptasajjya (D) Satakoshia

&0 40 cow 9167 BE9IR QIgia aIse gda ?
(A) QBRI (B) QIGEraI@ (C) agasyl (D) QiesxI18z

90. Match the following pairs of Award and its founder ?

I. Kalinga Award i) Harekrushna Mahatab

2. Bisuba Samman ii) Biju Pattanaik

3. Atibadi Jagannath Das ii1) Sambalpur University

4. Gangadhar National Award iv) Srujani

5. Guru Kelucharan Award v) Odia Sahitva Academy

(A) 1-1i; 2-1; 3-v; d-iii & 5-1v (B) 1-iv; 2-iii; 3-i; 4-ii & 5-v
(C) 1-ii; 24; 3-iv; 4-ili & S-v (D} 1-iv; 2-iii; 3-i; 4-v & 5-1i

& REE Qeaia 99° 019 gPaIs: 618 9g 609 @9 |

1. 9 geals i) WERIGE AEPIS

2. 699 QR i) 9 AP

3, 8698 oria Qg iii) agRge QaRedsd

4. GETNG QISE ARG iv) Qe
5. 69 695084 gaala v) 838 QT QRieen

(A} T-1i; 2-1; 3=v; 4-ii1 & 5-iv (B) 1-iv; 2-iii; 3-i; 4-1 & 5-v
(C) 1-i1; 241; 3-iv: d-iii & 5-v (DY 1-v; 2-ii1; 3-1; 4-v & 54
91. The Chief Justice of Odisha High Court is appointed by-
(A) The Govemeor of Odisha (B) The Prime Minister
(C) The Chief Justice of Supreme Court (D} The President of India

6@ 2R6RITR I8 FIIR0E A FI61 Fge g8 7
(A) BEgie algyalm (B) Quiie 7131
(C) 98¢ saIga e SoIead (D) SISSE QILAT

92. When Odisha became a separate state on 17 April, 1936, the number of districts was-
(A) Five (B) Six (C) Seven (D) Thirteen

R 0N 2166 6USFETER BEE U9 993 AIRY 620, 6Q IADEH BEWISE 695569IT B ElmI?
(A) 8 (B) 9 (€y7 (D) 13
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93. Pick out the incorrect one of the following pairs of important vear and the event that occurred in it-
SL.No. Year Event

1. 1576 Battle of Haldighat
2. 1757 June-23, Battle of Plassey
3. 1761 Third Battle of Panipath
4. 1764 October 22, Battle of Buxar
(A) SI.No. 1 {B) S§1.No. 2 (C) S1.No, 3 (D) None

Gg6a goa ggR 94 od ¥e° 626 9da 2906 AEAIRRIR 6AIE AINT 6996 R P09 98 |
gieaey <d Al |

1 1576 YRAEIC g&

2 1757 ge 23, dmid &

3 1761 go1a QA g&

4 1764 deqen 22, 990 gF

(A) SI.No. 1 (B) SL.No. 2 (C) SI.No. 3 (D) 6916GF 6w

94. Find out which of the following pairs of books and authors is incorrect.

S1. No. Book Author

1. Dr. Jekyll and Mr, Hybe R.L Stevensom

2. 5" Column R. Nest Hemigway

3. Gita Gobinda Javdev

4 Godaan Muni Prem Chand

5, The Guide Mulk Raj Anand

{A) S1.No.1 (B) Sl.No.3 (C) SLNo.5 (D) SL.No.4

76 YO GIR 9" GI9 CRER 5AIP MG 69UF PR 99N 99 |

giie Qs g Emetw

1. FID0 6eeen JIE 090 2188 219 99 F689a
2, 86 aa 2609 6206

3, Qe eRlIER o lans

4, ENQIE (ed egrieia

3 @ elae (991 26D

(A) SL.No.1 (B) SI.No.3 (C) SL.No.5 (D) SI.No4
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95. Given below is a column of towns/cities and another column containing names of the industries they are

86.

associated. Find out the correct answer out of the four options given below showing the correct matching
between them,

SI.Ne. Towns/citics SI.No. Industries

1. Dhariwal a tobaceo

2. Guntur b. woollen goods

3. Jalandhar c. diamonds

4. Katni d. cement

5, Kimberley e. sports goods
(A) 1-a; 2-b; 3-c; 4-d & 5-¢ (B) 1-¢; 2-d: 3-b; 4-a & 5-¢
(C) 1d; 2-¢c; 3-a; 4-b & 5-¢ (D) 1-b; 2-a; 3-¢; 4-d & 5¢

GEIea 69115~ IAER ALE/ATRG QIR IS° BY GRER 9191 93T M9 95ZS! J89 IR QUG 218 | 9ge
6RAE ZI6AR 699 21F 909 79|

gieas  dee/ede Qfie aetl éig

1 AGHEIR a. e

2 gqe b. am aag

3 IR c. 218l

4 DA d. denreg

5, 6% e. 6QIg QIAg!
(A) 1-a: 2-b: 3-c: 4-d & 5-¢ (B) 1-c; 2-d; 3-b: d-a & 53¢
(C) 1d: 2<¢c; 3a: 4-b & 5 (D) 1-b: 2-a: 3-¢; 4-d & 5¢

Pick out the incorrect pair of the important year and the event that occurred in it from the following-
SI.No, Year Event

1. S69AD Birth of Prophet Mohammad at Macca
2. 1215 Magna Charta signed by King John-II
23 1494 Columbus discovered America
4, 1408 Vasco da Gama discovered sea route to India
A)SlNo. 3 (B} S1.No. 2 (C) Sl No. 1 (D) None of these

Goea Taaeeel gee gd eF 9e° 6an 98 2600 IFGIRRIR 601G AIRSIRIR $R6E BN GOR 6 |

gieesy  od qASSIGF1

I 569 AD AIRUER YO FIERG & 6

2 1215 QUG GR-11 19 9T IGR VG VS

3. 1494 SREA 2EOER TG FRE

4, 1498 RIS QIRGY S T2 21T aad

A)SINo. 3 (B) SI.No. 2 (C)SINo. 1 (D) 651635 ges
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97. Who was the first muslim ruler of Odisha?

(A) Allaud-din Baktiva (B) Mahammad Sayeed
{C) Subiman Karrani (D) Qutab-ud-din Aibak

BEGIS A FARAIT S99 @4 Z6R7
(A) ZINED - TF 9B (B) A1e99 aa1g
(C) 9EFIE QIalgl (D) §99-99-0-2IRIR

88. Which of the following rivers does not flow into the Bay of Bengal?
{A) Godavan (B) Krishna (C) Cauvery (D) None of these

G602 696 9015 96910 Qlgese 8 q18 7
(A) sQIQISR (B) 18 (C) Qleaa (D) 651635 gew

99. Odisha became a part of British empire during the reign of-
{A) Warren Hastings {B) Lord Cornwallis (C) Wilham Bentick (D) Lord Wellesly

FTIR AT VP66 BES §TE AN ZFE 627
(A) GI6ae 695a (B) A& adaime (C) eaRza 6999 (D) & CUREREE

100. The first Odisha Legislative Assembly met in Ravenshaw College Hall at Cuttack on-
(A) 25" July, 1936 (B) 28" July, 1937 (C) 25" June. 1937 (D) 28" June, 1937

Gae1 P41 IS 6F0R FTQ B9 CREUZ| FERT TREE 6969 BT TR
(A) 25" July, 1936 (B) 28" July, 1937 (C) 25" June, 1937 (D) 28" June. 1937



